
ASSEMBLY  INSTRUCTIONS

BILLIARD TABLE

Missing parts, damages, and any other problems, please contact us via email.

raykeepgoods@outlook.com



Leg Levelers

Leg

Billiard Ball

Cue stick

Triangle

1

PARTS IDENTIFIER

Chalk

2

3

Billiard Cabinet x1

x4

x4Leg Panel

4

x4

6

7

8

10

9

11

12

15

14

13

x1

x2 x2 x1

5 6

7 8 9

Brush

A1

5/16"x2"Bolt x12

A2

15mm Screw x24

1

5/16" Washer x12

A3

A4

x1Wrench



Figure 1

2

2
1

A2

3. Attach the Legs (#2) to the Billiard Cabinet (#1) using three Bolts (A1)

    and two Washers(A2) per Leg(#2) as shown FIG. 1.

ASSEMBLY INSTRUCTIONS:

1. Find a clean, level place to begin the assembly of your Table. The table

    will be assembled upside down and then turned over on its legs once

    the assembly completed.

2. Remove all the parts from the box and verify that you have all of the

    listed parts as shown on the parts list Carefully cut or tear the four

    corners of the box so that the bottom of the box can be used as your

    work surface.

A1



3

Figure 2

3

1

4. Attach the Leg Panels (#3) to the Legs (#2) using six Screws (A3) per

    Leg Panel(#3) as shown FIG. 2.

5. Screw the Leg Levelers (#4) into the bottom of each Leg (2).

3
2

4

A3

A3


	撞球台说明书-模型.pdf
	撞球台说明书-模型1.pdf
	撞球台说明书-模型2.pdf
	撞球台说明书-模型3.pdf



